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1. An acute angleXAY and a pointP inside it are given. Construct (by a ruler and
a compass) a line that passes throughP and intersects the raysAX andAY at B
andC such that the area of the triangleABC equalsAP2. (Cyprus)

2. Letm be an integer. Prove that the polynomial

x4−1994x3+(1993+ m)x2−11x + m

has at most one integer zero. (Greece)

3. Let (a1,a2, . . . ,an) be a permutation of the numbers 1,2, . . . ,n, wheren ≥ 2.
Determine the largest possible value of

n−1

∑
k=1

|ak+1−ak|. (Romania)

4. Find the smallest numbern > 4 for which there can exist a set ofn people, such
that any two people who are acquainted have no common acquaintances, and
any two people who are not acquainted have exactly two commonacquaintances.
(Acquaintance is a symmetric relation.)

(Bulgaria)
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